
Oxygen is the eighth element in the Periodic Table.

Burning is called an oxidation reaction because oxygen is added to an element or compound when it burns.

The brick model to explain burning

The play brick model uses four bricks. 

Two white bricks represent oxygen atoms and two black ones to represent magnesium atoms. 

When oxygen is a gas, it always appears as a pair of atoms (O2). 

When burning happens, the bricks rearrange to show a magnesium (black brick) and an oxygen atom (white brick) to become the compound magnesium oxide (one white and one black brick joined).


Each brick has a mass of 5 g.

What would the mass of the black bricks be at the start of the reaction? 

What will the mass be of the white and black bricks at the end of the reaction?

Has the mass increased, decreased, or stayed the same?

Results from an actual experiment
Three groups of pupils burned magnesium in a ceramic pot with a lid. 

They measured the mass before and after the experiment.

These are the results.

	Group
	Mass before burning (g)
	Mass after burning (g)
	Change in mass (g)

	1
	4.8
	7.1
	+ 2.3 (increased)

	2
	2.5
	3.6
	+1.1 (increased)

	3
	2.0
	2.9
	+0.9 (increased)


What happened to the mass of the magnesium after it had been burnt?
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